Flush Tilted Wall Mount
For 43”-90” Displays
ADD-FTWM
INSTRUCTION - MANUAL

SN
M-A (x4) M-B (x4) M-C (x4) W-A (x6)

M6x14 M8x16 M6x30 ST6.3x55
M-D (x4) M-E (x4) W-B (x6
M8x35 D8 A

@ o) ©)

M-F (x4) M-G (x4) —
D5xD8X5 D15xP8x15 W-C (x6)

INSTALLATION:

400x200 400x300 400x400 I,"‘__‘.‘:_l
600x400 800x400 AR

T
|
|
T
VESA Compatible Coo] ® | /
200x200 300x200 300x300 — — 80ko I /
(176lbs) |
RATED | /
‘ +
|
|

os=—=<C

1 1 Setting up Wall Mount Bracket

1 2 Setting up Wall Mount Bracket
on Dry Wall -

on Solid Wall

60mm 2 10mm

55mm 5 4.5mm @ (2 3/8") l
@22 (2 3/16") | ( k@

< ] < t

1.1A : Identify the wall studs and locate where you want to place your mount. Place the wall bracket (A)
on the wall and with a level (not included), mark off the location of the drill points as illustrated above. Key
point is to align any of the holes to the spacing of the studs. Afterwards use a powerdrill (not included)
with a 2.2” length and a 3/16” diameter drill bit, and drill where was marked.

1.2A : Place the wall bracket (A) on the desired location on the wall and with a level (not
included), mark off the location of the drill points as illustrated above. Afterwards use a
powerdrill (not included) with a 2.4” length and a 3/8” diameter drill bit, and drill where
was marked.

1.1B : While holding the wall bracket (A) , align the 4 washers and screws (W-C, W-A) to the pre-drilled
holes. Using a socket wrech tool (Not included), rotate in the screws until securely tightened.

1.2B : Place the anchors (W-B) into the wall, and then place the wall bracket back on the
wall. Align the 4 washers and screws (W-C, W-A) to the pre-drilled holes. Using a socket

T
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|

-
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
}
} wrech tool (Not included), rotate in the screws until securely tightened.
|

Q 36 Taaffe Place Brooklyn, NY 11205 B4 support@ctadigital.com (‘ 718-963-9845 @ www.ctadigital.com



Attaching
Vertical Brackets
to Back of TV

2A : Identify the VESA holes on the back of the TV(Not Included). Align the vertical bracket (B,C) as shown to the VESA
holes. Using a screwdriver (not included), rotate in 1 out of the 2 combinations of screws, washers, screw ends and
possibly spacers as illustrated in the call out box below. Each combination has different screw diameter and lengths and
really depends on the TV that’s being attached. Test out different screws and find the combination set that works for you.
Make sure to rotate the screws until securely tightened.

% X gl

S !

Too long  Too Short

**TV is illustrated for example
purposes and not included

Mounting TV
to Wall Brackets

3A : Pick up the attached vertical brackets to
the TV, and latch onto the wall bracket from
above as illustrated.

3B : Using a screwdriver tool, not included,
tighten the integral screw at the bottom until
the screw is securely tightened onto the wall
bracket.

**TV is illustrated
for example
purposes and
not included

4 Adjustability

**TV is illustrated for
example purposes and
not included

4A : Adjust your TV vertical angles by tilting up and down

as illustrated.

5 Adjustability

0
5A : After tilt adjustments are made, @
locate the tighten lever component as
shown to the right. Rotate and tighten to CD |
set your preferred viewing angle. Keep @
rotating until securely tightened. @ _//-':'E
D
O
I
)

9 36 Taaffe Place Brooklyn, NY 11205 R4 support@ctadigital.com (‘ 718-963-9845 @ www.ctadigital.com




